Day 1.notebook October 25, 2018

The number i Algebra 2 Unit 4 Day 1

On your own, solve each equation for x.

1. x-1=0 X’-(

2. x+1=0 x-— l

-

3. x%-1=0 Jxa_____g"’
(xei)xth=0 X==1
> v
cpie I = x=7
=+ (T
5.x%+2=0 == :
x=2{3 = X =T/
Which ones above do not have a real number solution? Why?
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In fact, solving the equation x?+ 1= 0, we got x = =/-1.

This leads ta i = Al"l )

Problem: Thereis no real number that is the square root of a negative real number.
Solution: The number _L .

Wele‘ryr’—_l:;r’rhenigzi. (‘J?O = —|
Ifr>0, '\)—‘—r ='\FT’J?=LF

Definition: A pure imaginary number isa number that canbe written in the form

bL. whe b#o0
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Rules of it ) To e Mee !

. Change all expressions of the form V-b to iYb firW
,Treat 1 as a variable for addition and subtraction.

». Substitute -1 fori *

Simplify: 3 't

1. Jo- 4149 = bﬁ( = 3¢ ]1
2 _m ~c7‘ -J0¢ 25
3. J30- Lﬁ'/\ =205 36

4, 2./27= &Lﬁ ’&LM‘Y/\ 4[\ 97
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Note: In thereal number system J.:; -«f.g =-faeb . However, this is not the case when working with
imaginary numbers.

Example: Simplify the following using: a)rules for real numbers, and then b)rules fori.

== ORI 3
g B D 2o _
LJ}Z&‘-L&%’ &=

What do you notice?

Not-=. Sy Pudeo fon
Simplify: 3 + T'
5. 9816 = {JZL' L% = ,'2/ = =)o
o Geiii- A5 i = i450 = Lids/3 =50/
B T Qg iy
5 - (U7) =7(7) = =7
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Put everything away.

What are some things you learned about the
number i today?
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